Unit 1 Review Sheet Name:

1. The overall charge of an atom is neureal\ if the number of ‘D(‘b-\-oﬂS and g\ectons are
the same.

In the nucleus there are two particles the ?fb‘\'m’\s and the p2 v A-tors.

Moving around the nucleus are e\e ctvons

What makes one atom different from another is the number of ?”hﬂs in the nucleus of the atom.
The atomic number is the number of P(‘o—\-ons )
Protons are found in the nwec\eS and have a 19&';'\-'\\82. charge.
Neutrons are found in the nwec \ews and have ne udetol\ charge
Electrons are found in e}f\exg\l\ \esse)s, and have a“g%o.’rlalcharge.
What is the atomic number of C1? \’}-
10. How many protons and electrons for chlorine? (4 (if '\-m\)

B USSR MQS‘c A\au.“ a“\- {se r \&

¥

11. How many neutrons for chlorine? sse=& ,56 3S~

12. The Mass Number is auvmloesr oF .‘ams and acodrons
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Supply the missing information needed to complete the table below.

Element Atomic Mass Number of Number of Number of
number number protons neutrons electrons

13. sodium 11 23 1) 2. [

14. hydrogen \ 1 1 O |

15. neon \O Zo 10 10 10O

16. fluorine Q 149 9 10 9

17. uranium 92 23 92. 146 92

18. aluminum 12 2+ '3 14 13
Tsotoges act

19. Amisotopeis ONOMS oF sowme edeman Wl differeny masses .

20. Write the symbol (EX) f%rsthe 1sof‘9pe having 11 p*, 12 n° and 10 ¢

21. Anion is OAmen \.-J( o ONORGR .Anatomisa ion of the number of
protons is greater than the number of electrons. Itisa  — ion if the number of protons is

less than the number of electrons.

22. The atomic mass is not a whole number because it is based on an oNerepae of all the isotopes
of an element. oWV

22. Niels Bohr discovered that electrons travel in certain e,w*ax\ fewe\s or orbits around the
NnUuAdews

23. Electrons that are closer to the nucleus have \ess energy than electrons that are farther from the
nucleus.

24. The edomic #¢ tells you the # of protons in the nucleus.




25. To find the number of neutrons you subtract the atomic number from the (\oss =

26. Z electrons fill the first energy level, g fill the 2" energy level and I(‘é fill the 3™
energy level.

27. Draw a Bohr Model for sulfur.
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28. Fill in the table below and then use it to figure out what is happening during each type of decay- —

W\ u‘\=‘—\
;4\ nw=2
na=3

alpha (o), beta (B), and gamma (Y)

Parent Particle New, Alpha, Beta, | # of protons Change in
Isotope emitted Daughter or gamma lost or gained | mass number
isotope Decay? by “parent”
a 28286Ra —> _;_'He + 28262Rn Alpha Lost 2 minus 4
b. el Po — JHe + Z10Pb o\pho. Yost 2 minas ¢
c 20Ca —> Je— + 3]Sc bdco, - aoin | no honee
d.'Gd —> JHe + '2)Sm o\pyoL st 2 minus 4
e. 164C —_—> _?e —_— -t I:N WQ -— %Q.“(\ ‘ ne W

29.  Complete the following nuclear equations. Indicate the new element formed

during these reactions. Name the nuclear particle emitted.
a. 1]Na—)?+_(1)e 2M5

b. $5Cu— 2+ e =2

' 204

C. 208Po—> ¢+ 2He g2 fo

d. S|—> ? + +]e \1A|

100 Decay of Iodine-131

30. The following graph shows the radioactive decay curve for
Iodine-131. This radioisotope is used in medicine to help

diagnose issues with the thyroid such as cancer and £ w0
hyperthyroidism. Use the graph for questions g
a. What percent of the 1sot _ge remains after 32 days? % oo
(be exact) (4 nal® 7 .
257, §
b. What is the  life of lodine-131? 3
€ da=

c. A patient,administered 20 mg of iodine-131.
How many mg of this radioactive isotope will
remain the body after 24 days? (show work)

24 doys = 3 o\l WS ’{xzo

31. How is fission different than fusion?
sS ;a "

0
’
I

L I T T T .

16 24 32 40
Number of Days

=7. $m9

NS
\"(OW\ 3 \oo?wb

32. What type of nuclear reaction is shown below?
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